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INSTRUCTIONS

The number of ied by a question/part is indicated against it.

Answers must be wr e medium authorized in the Admission Certificate which must
be stated clearly on' the er of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized

one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.
Any page or portion of the page left blank in the Question-cum-Answer Booklet must be

clearly struck off.
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1. 3 s w0 A FAEE S 9Ra § og T Fa R (o o Ho) # witkfer fry mu ¥ s A
g 2017 @ e Sfe Tho o F e Pifanel w o fogeli Hifmy
(3W 150 w=5t # €ifv)

Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax (GST) in India. Also, comment on the revenue implications of the GST
introduced in India since July 2017. (Answer in 150 words) 10

2. T A9 W AT § WeHd ¢ 1% qhA e IR (o o dlo) N vt wafy qen Pt gmehify H
FUl AR Sdferaryr =St feufa # A7 o ol & wnd § wrwr dfv

(3 150 T=a1 7 Af¥e)

Do you agree with the view that steady GDP growth and low inflation have left the
Indian economy in good shape? Give reasons in support of your arguments.
swer in 150 words) 10

3. THiHd FN WONCH (3o Tho THo) Torg W1 o Y Icure 1 37
(S 150 w=zt 7 ifsg)
How far is Integrated Farming System (IFS) in s ng agricultural
production? swer in 150 words) 10
4. So-viaafd &1 @ TN e § 9fg w0 & wie TR % T ) GRER
BT (IW 150 w=a1 | §ifvm)
Elaborate the impact of Nation Project in increasing agricultural
production from water-stresse ] V. -(Answer in 150 words) 10
5. & sSiad 3R Fiy-fagm & SHUAT: ST 3R o Wo THo WY & ArTem! A
RA 1 fhd YR o 18 (S| 150 T3t & <ifvm)

How was India
Dr. M. S. Sw
respectively?

€ contributions of Sir M. Visvesvaraya and
fields of water engineering and agricultural science
(Answer in 150 words) 10

6. YR H & % AW B Y 1 AT R S TAR ITaRe wRIEH F TR fHE TR
Y TEETh? (FW 150 W=t # difse)

What is India’s plan to have its own épace station and how will it benefit our space
programme? (Answer in 150 words) 10

7. TR A T, IR 9% 94 B 91 Y B, TAR G0 % {9 WAl § | U 2| YRS 99l
R A R G @H % 9 F, TR e & gaen 37 e, e G '
Lo (IW 150 w=al # <ifsw)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our
environment. Analyze the impact of sand mining along the Indian coasts, citing
specific examples. (Answer in 150 words) 10
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10.

11.

12.

13.

14,

391 WTE mm%mmwﬁmw%mmwmm%.mﬁ
= W e 1 6 TR iR Re-fe aie ¥ iy SiE-Rem fea o gwa 20 TS % Hef §
wad % fafi| werl | == fift (IM 150 T=_t A <ifvr)

Vulnerability is an essential element for defining disaster impacts and its threat to
people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words)

S AR HHR A SHTE T W aEd @ A ke S Y aer agen A fi-sa
FEFAA (Mo o Ty ) i yfiEw wH w1 F 79 7 ¥ | Ivwr (amEa) Wfa & B AREAr
Al ) Hedal Iga 7 qfi-3uR weiedtat gra P s @ e @ wdem B fr-saR
HEHAiA & IE B i w3 % 3 f ==t DR (IR 150 T=at # 2ifvm)

The banning of ‘Jamaat-e-Islami’ in Jammu and Kashmi ught into focus the
role of over-ground workers (OGWs) in assisting terro organizations. Examine
the role played by OGWs in assisting terrorist organizations i ency affected
areas. Discuss measures to neutralize influence of O

- (Answeg 'in 150 words)

WEESM YRESAT =41 }7 W i 5 wra § sece % 78 form yor S9Erh
B THhar R) (IR 150 =1 & dfvw)
What is CyberDome Project? Explain how an useful in controlling internet
crimes in India. (Answer in 150 words)

T dh T =1 & T woash s w ~wﬁﬁmaﬁ‘nuﬂﬂﬁw%3§m’raﬁ

T R ST R 36 ey W@ (S| 250 wi=sl # difom)

It is argued that the strateg 1 th is intended to meet the objectives Of

inclusiveness and sus @_g y together. Comment on this statement.
LUSIVENESS

(Answer in 250 words)

ISR 3 auie fmfo & w2 #, A% <99 Y97 YR WHER & que T i 2
R W AR (3W 250 v=at & difw)

(Answer in 250 words) -

3 foraor worreht Y Srfern TR SR ¥ WER TR DH-BH d GURTOTH HIH 39T T 7
(IW 250 W= 7 diferw)

What are the reformative steps taken by the Government to make food grain
distribution system more effective? (Answer in 250 words)

W SHER 86 <1 AT % FHIYH ¥ WRA SRR g0 379 ¢ Hfifa F afawn w fif
(IW 250 w=_1 # difsre)
Elaborate the policy taken by the Government of India to meet the challenges of the

10

10

10

15

15

15

food processing sector. (Answer in 250 words) 15

SAMPAD A
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15. e Sufdl % g AERTE ¥ wioRs IH w1 w0 R WG TR FFE TR T8 T8 R7
o ' (I 250 =1 | i)

How is the Government of India protecting traditional knowledge of {nedicine from
(Answer in 250 words) 15

patenting by pharmaceutical companies?

16. Trart ¥ e THE B T FQ F R S dAfeR fRe TR wEEd AR /7
(IW 250 7=t 7 Q)

How can biotechnology help to improve the living standards of farmers?
(Answer in 250 words) 15

17. i } Gef TR 7 1 aed gwa 6 dehead1 B whern i) T i f R e %
Sty fem (FRYad Syegie) Y A a9 99 T Haheddl 7 JhR HET ! ¢ |

(IW 250 T= H <)
Define the concept of carrying capacity of an ecosy . ant to an
environment. Explain how understanding this concept is anning for
sustainable development of a region. 250 words) 15

18. el ofi s vEvR whm § e dad ugen FEm
33&a AAfEEY R WHR e sredis # HeR

Disaster preparedness is the first step in any dis
how hazard zonation mapping will help disaste}d

(:ﬁﬂ 250 T=51 & €ifv)

agement process. Explain
ion in the case of landslides.
(Answer in 250 words) 15

19. YRd WHR A & & A faiulawq rarrall (frarm) sifuf@m (3o wo dlo wo), 1967 3R
To 3MRo To AfufEw % A % FaTG-UYN Tl ! Hefgg L fean 8| AFETER Gl
T fafufoee framwam (Famon)s 3 ﬁﬂum%ﬁwnaﬂtmmﬁfmmaﬁm
T qiEw F gl A, aRadAl e 1 (3W 250 W=l # o)
Indian Gove y strengthened the anti-terrorism laws by amending
the Unlawful Activiti : pn) Act (UAPA), 1967 and the NIA Act. Analyze the
evailing security environment while discussing the
r opposing the UAPA by human rights organizations.
(Answer in 250 words) 15

20. IFC-GEH WA B IqArTE ) W S ARGR TSR, WA G & A s gean gt
A FE T 2| WRA-HIAR G FRGR IEAE B A B areh e it ® wdem ik
1y @ T w1 wiy w0 F we w T+ R (W 250 W=t § Afvm)
Cross-border movement of insurgents is only one of the several security challenges
facing the policing of the border in North-East India. Examine the various
challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. (Answer in 250 words) 15
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